<o @> (rad)

< 00, > (M)

<opyp, > ()

Ratio

o
[N

e
[
ul

..................................................................................

o
N

< dcotl>)
o
=
a1

-0.15 ] R R RS SRR -0.15

o AT N
k 2 SHR iy

]
Ratio

i
v

1t

O N w N

=
o
N

2 3 2 3
TPlpoT (PCA t%obeamlinélf) 1 TPlpoT (PCA t%obeamlinélf)
—s=— DQM_mkFit_baseline_lowPT
—e— DQM_mkKFit_baseline6iter_lowPT
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

100r

F : -+ : +1 g E o
80F-+tt-it-{4-{-- e > sop- -
(6] SRR FLH e 3 60F
C T HES fie] o
PTo] SeRERERE | BF o BE & 0% K OB L v 40
20F -+ i “ "'"“' FH - e 20F
OE_ ..... .u:: “ "‘jr. Tk ............ OE_
—20F -+ T (- HHH e -20F
—40F -+ 4 Fooerdeeienns ~40F - [ HAHH oo
60+ T H 1 -60[- 1] [ S O IO
~80F- -+ , L e —80F - {{Hf i PHHATH oo
lOQ; 1 fin 'qu 1 11 |! 1 ||||||! L 9_100: 1 il |! |w|| dl 1 ||||||! L
] L s T 2f- H B B2 20 {5 i § ERRRRRRERRERERELELE
155 + i g 3 T (147
] S 4 Thldsrddd o r F1l
E b =17 1% HEE5 8 i ch
0.5F- S E Y EEEEEPEP PP PEPPEPES Eoo4 ] IR
= O-

[ay
o3
I8
o
I8
[N

1 1

2 3
TPlp?T (PCA tjbobeamliné'f)

1 444 [+T] ] : :
-+ 3 d 4 .
Bl s :

1T Tl H

: 2 3
TPl[:g)T (PCA t%)obeamlin%)o

5p T

A4 b A () EEELEETET-ERTERERTE
] =oEERl b PERTRES A LU e
E 4] :

2 T 2 R
E W
0: ] . o +:

e o B S 1 o

) S R D A 1

_3F I FTRP

—4f i 1 | KRR

_5: | .! |

L :

2F

O-—l

10



	Contents
	Page 1


